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f(x)=x*—-2x+4 g(x) = 2sin(x) + 4 cos(x) h(x) = e* — o + ex — 2e

Directions: The functions f, g, and h are defined above along with the graph of m and a table of selected values
for the differentiable functions k and k’. Use this information to find the following.

—]

1. Find the average rate of change of k(x) on the interval [—4, 6]. I'I - 3 _ —‘i é .#;:f
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3. Find the instantaneous rate of changgof k at x = 3.
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4. Write an equation of the line tangentto k atx = 1, — ’}
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5. Find the instantaneous rate of change of g at x = —.
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6. Find the instantaneous rate of change of m atx = m.
: -l
i (ﬂ“) ~ 3— = {f > |
7. 1s there a time ¢, where — 4 < ¢ < 6,such that k{c) = 57 Give a reason for your answer.
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8. Is there a time ¢, where — 4 < ¢ < —1, such that k'(¢) = —4? Give a reason for your answer. "~ 5,
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X —4 -1 1 6
k(x) 3 0 -2 7
k'(x) -5 2 3 —4
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h(x) =e* ——+ex—2e

f(x)=x*+~2x+4
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Directions: The functions f, g, and h are defined above along with the graph of m and a table of selected values

2 L\ g(x) = 2sin(x) + 4 cos(x)

for the differentiable functions k and k'. Use this information to find the following.

9. Find the average rate of change of f(x) on the interval [—1, 2]. T
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10. Find the average rate of change of m(x) on the inferval [—3,7].
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11. Let p(x) = 2m(x) — x3. Find p’(-3).
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12. Find A’ (x).
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13. Let g(x) = m(x)k(x). Find g’ (1).
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14. Letr(x) = )

Find r'(3).

e ; TR DA o * S (U
!"BJ: K(ﬁ)‘p[giw: t ‘Iw "l lo

17y

15. Find the slope of the line tangent to the graph of mat x = —4.
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Directions: The functmns f,g,and h are defined
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g(x) = 2sin(x) + 4 cos(x)

X —4 —1 1 3 6
k(x) 3 0 -2 4 7
k'(x) -5 2 3 6 —4
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above alung with the graph of m and a table of selected values
for the differentiable functions k and k’. Use this information to find the following.

16. For which values of x on the open interval (—5, 8) is m(x) not differentiable?
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17. Write an equation for the line tangent to hatx = 1.

n'(N= e ¥+ 3tre= getd

(\, e'-dte-2¢) 3 (\,
m(x)

18. Let w(x) = . Find w'(=3).
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19 Let L(x) = 3f(x) - . Find L'(3).
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20. Let S(x) f(x)Vx. Find s’ (4)
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21. Find the slope of the line tangent to the graph of gatx = —
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f(x)=x*-2x+4
£~ 9¢ -2

Directions: The functions f, g, and h are defined above along with the graph of m and a table of selected values
for the differentiable functions k and k’. Use this information to find the following.
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22. For which value of x in [—4, 6] is the instantaneous rate of change of k(x) equal to the average rate of change
of k(x) on the interval |1, 3]7
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. Find n'(—1).
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25. Let D(x) = 41In(x) k(x). Find D'(1).
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Directions: Order the following from least to greatest.

26. m'(3), m(—-2),m' (1)
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27. m'(6), k'(6), f(6)
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28. g(0),4'(0),9"(0)
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Directions: The functions f, g, and h are defined above along with the graph of m and a table of selected values
for the differentiable functions k and k'. Use this information to find the following.
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29. Let N(x) = —=— f(x). Find N'(x). N
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30. Find any value(s) of x where f(x) has a horizontal tangent line.

'F-’{)C):@ gor AR O.SY/(AQ e poln‘t@’)
8“)6-&:0 C\J 5>

31. Let A(x) = 2k(x) + 3x. For which value(s) of x does the line tangent to the graph of A(x) have a slope of — 5?
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32. Let B(x) = 6In|x| — 5~ + —. Find the slope of the line tangent to the graph of B at x = —1.
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33. Let C(x) = 2x3 — m(x)k(x). Find C'(6).
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34. Let L(x) =

k (x) If L has a horizontal tangent line at x = 1, find k"' (1).
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